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1 (a) Aright-angled triangle has sides of length 8 cm, 15 cm and 17 cm.
Find its area.

(b) In order to estimate the area of the irregular shape below, a horizontal line is drawn
across the widest part of the shape and three offsets (perpendicular lines) are drawn
at equal intervals along this line.
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(i) Measure the horizontal line and the offsets as accurately as you can.
Make a rough sketch of the shape in your answerbook and record the
measurements on it.
(if) Use Simpson’s Rule with these measurements to estimate the area of the shape.
(c) A wax crayon is in the shape of a cylinder of diameter 10 mm,
surmounted by a cone of slant height 13 mm. &

(i) Show that the vertical height of the cone is 12 mm.

Ne—e—
(ii) Show that the volume of the cone is 1007 mm?®
(iii) Given that the volume of the cylinder is 15 times the
volume of the cone, find the volume of the crayon, in cm?,
correct to two decimal places.
(iv) How many completg crayons like this one can be made p——
from 1 kg of wax, given that each cm? of wax <¥1—0/>

weighs 0.75 grammes?

ANSWERS
1 (a) 60cm?
(b) (ii) 50 cm?
(c) (iii) 5.03 cm?® (iv) 265




